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f. g : AS 113

both continuous at a EA
.

ft g ⇐ g)G) = ftxltgcx)

Fg f-g)G) = tf).gl#)f/g(x)--fgf*IyCgCxltO-VxEA)



If f, g are cts at a so are

ftg

fog
f- Ig ( SFO on A)

To show F is continues at aft

show that if Can) is a sequenceinland
on- a, then Fan)- Fca)



Let Lan) be a sequence in A such that

an→ a
. @ob : shaw f-g)(a.)→ fsla)

d

flan) g.Can) → Ha) slay]
Since fisconfin.ua, flan ) → f-( a}
and sanitary glam)→ g Ca) .

Hence by the.IT't
'

flan) glad → Ha)gCaYgThin for sequenced



Exercise: Shaw fCx)= x is containcues

at each a EIR .

Def: A function f : ASR with AER

is continuous if it is continuous at each

point in its domain .

flxlex is a continuous function
,
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We P{¥, pig polynomials.

( Doman : Y¥¥×¥Mhr
{ Ex : date}

Rational functions one continues on
their domains.



Earlier homework: *a > o

Xu- x Cx>o)

ix. → ox

i. e . f- is contains at each X> O .

MEE]→ 9×74-630



Composition of factions :

setup : f:A - IR
g :B→ R

ABER

f f-(A) EB

→ gns
↳ {food: aft}

① ④ R

g. of : A→ IR

(got)Ca)=g(f- Ca))



f.A- R

Prop: Given the setup above
,
if g:B- IR

f- is continues at AEA FCAT EB

and g is containers at fla)EB

Then got is continuous at a .

PS: on TW (2 ways, by seaweeds and by
E- 8) .
-



Want gof rs ots at a .

know f is cts at a

g is cts at fca).

Need to show that it can) is a

sequence in A such that an→ a
,

@of)(an)→ g. f) Ca) .

Let (a) be a sequence on A with an→ a .



Then f- Can) → flat
,w

↳ bn b.→ fla) EB
w
b

b.→ b

g is continuous at fla)

g is continuous at b

b.→ b

gcb.)→ g (b) / g(Hands gffca))



⑤Alan) - scofxa)
ans a ⇒ g.f)Can)→ @aft Ca)

⇒ got is continuous at a
.

f-
gcxse of

9×-2×+7 D= [o, ooo)

FCA -_ 9×-2×-7

f-CASE B
A-= {

AYR



f- g

⑦0.7
[Goo)

A- = { x ER : FCA > o}

= { x ER : Xx) EB}
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Compactness :

fuk ly ar 431203
f.A→ R

f = Is

t.EE#


